SkbrV BK
DM-lag IAF match 2

IMP o6ver féaltet, 10 bord, 20 par. Antal brickor: 12.

Plac  Par Poang Namn MID Klubb
1 16 234 Osten Svantesson - Klas Bellander 5765 4541 Videdals BK
2 17 151 Per-Inge Helmertz - Mats Nilsland 1322 4773 Kullabygdens BK - Malmé BK
3 3 112 Bdrje Dahlberg - Johan Dieden 4744 10388 Malmo BK - BK Lavec
4 2 108 Hans Olsson - Bengt Palsson 13278 6272 Malmé BK
5 10 69 Mats Sjogreen - Ebbe Westman 5554 1202 BK Lavec - Lunds BK
6 14 65 Sven Fagrell - Christian Leo 16706 577 Landskrona BK
7 8 54 Martin Johnsson - Jérgen Andersson 13345 22136  Landskrona BK
8 1 36 Torsten Eriksson - Bengt Svedrell 493 89485  Ystads BS
9 15 19 Thomas Andersson - David Probert 15537 3990 Malmé BK
10 12 12 Pierre Carbonnier - Hakan Tjarnemo 5538 5534 LUCK
11 9 -12 Arnold-H Gustafsson - Rolf Holmér 85780 474 Lunds BK
12 6 -19 Mats Holm - Lars-Olle Peters 4537 4564 BK S:t Gertrud - Videdals BK
13 20 -36 Andreas Konyves - Yan Leger 4590 4582 LUCK
14 13 -54 Viktor Andréasson - Glenn Hansson 89902 14513  Hoors BK
15 7 -65 Jan Nilsson - Simon Nilsson 4501 85753  Hoors BK
16 11 -69 Anders Freij - Jan Gutenwik 5548 6302 LUCK
17 19 -108 Christer Winther - Simon Granath 4583 26207 LUCK - Malmé BK
18 18 -112 Sven-Olov Flodgvist - Géran Lindberg 9027 4339 LUCK
19 4 -151 Johan Noberius - Mats Berggren 655 5549 LUCK
20 5 -234 Jan Becklén - Fredrik Jarlvik 20525 4451 Malmo BK
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vD10753 v 6542 v5
¢ E763 + E865 + KKn863
«KD #Kn10 #Kn5
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
16 5 44 0-1 ¥3 100 53.0 -53.0|11 10 24 N= vK 110 29.0 -29.0|14 7 3NN+2 ¥3 660 88.0 -88.0
20 1 44 0-1 ¥3 100 53.0 -53.0|13 8 24 N= vK 110 29.0 -29.0| 4 17 3NN= v5 600 81.0 -81.0
3 18 34 V= v8 -140 -6.0 6.0(19 2 24 N= vK 110 29.0 -29.0|20 1 24 S+3 ¢9 200 1.0 -1.0
4 17 34 V= v8 -140 -6.0 6.0 9 12 4v V-2 &K 100 280 -280| 3 18 24 N+2 &5 170 -7.0 7.0
19 2 34 V= v8 -140 -6.0 6.0(14 7 3NO-1 T 50 13.0 -13.0|13 8 24 N+2 &5 170 -7.0 7.0
9 12 34 V+1 92 -170 -16.0 16.0| 3 18 34 N-2 vK -100 220 22.0|16 5 24 N+2 5 170 -7.0 7.0
11 10 34 V+1 ¢8 -170 -16.0 16.0|16 5 24DN-1 vK -100 -22.0 22.0(11 10 3¢ S+1 ¢9 130 -16.0 16.0
13 8 24 V+2 K -170 -16.0 16.0|20 1 24 N-2 vK -100 -220 22.0|15 6 24 N= 45 110 -23.0 23.0
15 6 24 V+2 ¢4 -170 -16.0 16.0|15 6 2v V= A -110 -26.0 26.0| 9 12 INN= v3 90 -26.0 26.0
14 7 24 V+3 8 -200 -240 240| 4 17 34 N-3 vK -150 -36.0 36.0|19 2 44 N-2 47 -200 -840 84.0
16 4 D642 17 4 E63 18 41053
Vast v Kn9862 Nord v10 Ost v EK3
ov ¢ ED Ingen ¢ DKn7 NS + EKn109
#106 #EDKn1063 »642
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v1053 ¢vK v984 v KDKn65 vD8 v 1096542
¢ 10865 ¢ K94 6 + K105 ¢ KD852 +74
%854 #EK732 #K875 &4 #EK3 8
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vED74 vE732 vKn7
¢ Kn732 + E98432 +63
#DKn9 £92 #DKn10975
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
15 6 4v S= *4 420 61.0 -61.0|13 8 3NN+1 vK 430 66.0 -66.0|16 5 6vyDO-4 ¢6 800 117.0 -117.0
16 5 4vy N= #A 420 610 -61.0(14 7 3NS+1 9 430 66.0 -66.0( 9 12 34 S= ¢+K 110 140 -14.0
9 12 240-2 ¢7 200 8.0 -8.0|15 6 5¢ N= vK 400 62.0 -62.0|11 10 24 S+1 ¢Q 110 140 -140
19 2 340-2 «A 200 8.0 -8.0(11 10 3« N+3 vQ 170 17.0 -17.0(20 1 24S+1 &A 110 140 -140
20 1 3v N+2 &A 200 8.0 -80(16 5 3« N+2 &2 150 8.0 80|15 6 3vO-2 6 100 11.0 -11.0
318 2v S+1 43 140 -7.0 70| 4 17 3NN-1 K -50 -35.0 35.0| 4 17 4vO-1 #Q 50 -4.0 4.0
14 7 240-1 #Q 100 -180 18.0| 9 12 54 N-1 vK -50 -35.0 35.0| 318 2vO= #Q -110 -40.0 40.0
13 8 24 N= &A 90 -19.0 19.0(19 2 64 S-1 v¥9 -50 -35.0 35.0(13 8 2vO= ¢6 -110 -40.0 40.0
4 17 4v N-1  #A -50 -51.0 51.0| 3 18 4NS-3 v4 -150 -570 57.0|14 7 2v V= vA -110 -40.0 40.0
11 10 3NS-1 #6 -50 -51.0 51.0|/20 1 3NS-3 ¥4 -150 -570 57.0|19 2 3vO= &2 -140 -46.0 46.0

SkbrV BK, DM-lag IAF match 2, sida 1 av 2




19 « E97532 20 « 103 21 « KKn1096
Syd v2 Vast vE973 Nord vKn
oV ¢ 865 Alla +103 NS ¢ 10962
#984 #DKn872 «D87
+10 4 Kn64 «DKn8 4652 « 875 a4
vDKn1097 v 86 vKD54 v38 vE10765 vK432
¢ EKn10742 «K9 ¢+ 874 ¢ EDKn652 ¢ Kn53 + EK84
*6 #KDKn1032 #K63  #E105 #102 #EKn43
« KD8 « EK974 « ED32
v EK543 v Kn1062 v D98
+D3 ¢ K9 ¢+ D7
#E75 94 #K965
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
3 18 34 N= «K 140 40.0 -40.0| 3 18 3NV-2 «T 200 53.0 -53.0( 3 18 44 N= ¢A 620 115.0 -115.0
15 6 24 N+1 &K 140 40.0 -40.0| 9 12 3¢ O-2 &K 200 53.0 -53.0(14 7 34 N= ¢A 140 58.0 -58.0
14 7 4e V-1 v2 100 30.0 -30.0|14 7 3NV-1 &2 100 30.0 -30.0|11 10 4v V-1 46 50 42.0 -42.0
4 17 44 N-1 K -50 -6.0 60(19 2 3NO-1 4 100 30.0 -30.0(19 2 34 N-1 ¢A -100 150 -15.0
9 12 44 N-1 K -50 -6.0 6.0(20 1 3¢ 0O0-1 «A 100 30.0 -30.0( 4 17 3vV+l &T -170 -3.0 3.0
13 8 44 N-1 +K -50 -6.0 6.0(16 5 2#N= v8 90 29.0 -29.0(20 1 3vV+2 &7 -200 -7.0 7.0
20 1 44 N-2 &K -100 -230 23.0|11 10 34S-1 7 -100 -11.0 11.0| 9 12 4vV=  ¢9 -420 -55.0 550
11 10 2¢ V+1 v2 -110 -230 23.0|13 8 2NV= &3 -120 -190 19.0|13 8 4v V= T -420 -55.0 550
16 5 3¢V= v2 -110 -230 23015 6 3NV= 42 -600 -930 93015 6 4vV= vJ -420 -55.0 55.0
19 2 3¢ V= 92 -110 -230 23.0| 4 17 3NV+2 &2 -660 -1020 102016 5 4vV= T -420 -55.0 55.0
22 # 10543 23 « Kn87 24 ~E8
Ost v DKn109876 Syd v Kn65 Vast vE6543
oV .- Alla +6 Ingen ¢+ Kn8
»64 #KKn10852 #K983
4972 « EKKn86 «ED1096532 #- « D64 « KKn95
v5 v42 v103 v EK94 v 987 v KKn
¢EKNn62 +754 +43 ¢ K10952 ¢ EKD102 ¢ 973
#ED1053 982 &7 *E643 *107 #EKn42
D a K4 « 10732
v EK3 v D872 v D102
+ KD10983 ¢ EDKn87 ¢ 654
#KKn7 «D9 #D65
Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng
13 8 6y N= 4K 980 107.0 -107.0( 3 18 44 V-1 +6 100 540 -54.0| 4 17 44 O-2 v2 100 50.0 -50.0
9 12 5¢ N+1 «A 480 240 -240| 4 17 44 V-1 +6 100 540 -54.0(16 5 44 V-2 ¥3 100 50.0 -50.0
16 5 4v N+1 &A 450 170 -17.0|15 6 44 V-1 ¢6 100 54.0 -54.0(19 2 44 V-2 ¢J 100 50.0 -50.0
318 4y N= &A 420 9.0 -9.0(19 2 44 V-1 +6 100 540 -54.0(20 1 4e4V-1 vA 50 36.0 -36.0
11 10 4v S= &K 420 9.0 9.0 9 12 3aV= ¢6 -140 6.0 -6.0(15 6 4¢ V= vA -130 -5.0 5.0
14 7 4v N= &K 420 9.0 -9.0(11 10 34 V= ¢6 -140 6.0 6.0 9 12 3¢ V+2 &A -150 -7.0 7.0
15 6 4v S= v5 420 9.0 -90(16 5 34V=  ¢6 -140 6.0 -6.0(13 8 24 V+2 ¢J -170 -160 16.0
20 1 4y N= A 420 9.0 -90(13 8 4e4V= ¢6 620 -780 780| 3 18 34V+2 &8 -200 -20.0 20.0
4 17 34 O+1 vA -170 -930 93014 7 4e4V= ¢6 -620 -780 78.0|11 10 3NV+1l v2 -430 -69.0 69.0
19 2 34 0+2 ¢K -200 -100.0 100.0|20 1 4eV= ¢6 -620 -780 78.0|14 7 3NO+1 v2 -430 -69.0 69.0
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